

General Information and Other Significant Information

1. General information of the company

The Company name	:	Advanced Info Service Public Company Limited
Symbol for trading	:	ADVANC
Registered date on the SET	:	5 November 1991
Market capitalization	:	Baht 684,003 million (as of 30 December 2021)
Registered capital	:	Baht 4,997,459,800
Paid-up capital	:	Baht 2,973,925,791 comprising of 2,973,925,791 ordinary shares (as of 31 December 2021)
Par Value	:	1.00 Baht
Total shareholders	:	63,337 persons (as of 17 August 2021, the latest book closing date for the rights to receive dividend)
Free float	:	36.22%
Type of business	:	Operate telecommunication business including mobile network service, fixed broadband service, and digital services.
Head office	:	414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok 10400
Registered No.	:	0107535000265
Corporate website	:	http://www.ais.co.th
IR website	:	http://investor.ais.co.th/
Telephone	:	[66] 2029 5000

American Depository Receipt		
ADR ticker symbol	:	AVIFY
Exchange	:	Over The Counter (OTC)
Depository	:	The Bank of New York Mellon
ADR to ORD share ratio	:	1:1
ADR CUSIP number	:	00753G103

2. Other significant information

General Information of AIS's Affiliates

No.	Subsidiaries	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
1	Advanced Wireless Network Co.,Ltd. (AWN) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of cellular telephone network, distributor of handsets and international telephone service, network operator, telecommunication service operator and internet	13.5	100	1,350	99.99
2	Advanced Data network Communications Co.,Ltd. (ADC) (an indirect subsidiary of DPC) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019 Website : www.adc.co.th	Under liquidation process	95.75	10	957.52	51.00 ¹⁾
3	Digital Phone Co.,Ltd. (DPC) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Ceased mobile phone operation	914	10	913.4	98.55
4	Advanced mPAY Co.,Ltd. (AMP) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of electronic payment and cash card	30	10	300	99.99
5	Super Broadband Network Co.,Ltd. (SBN) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019 Website : www.sbn.co.th	Network operator and telecom service operator, including as service provider of broadcasting network and television broadcasting service several channels	3	100	300	99.99

General Information of AIS's Affiliates (Continued)

No.	Subsidiaries	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
6	Advanced Contact Center Co.,Ltd. (ACC) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of call center	272	10	272	99.99
7	Advanced Digital Distribution Co.,Ltd. (ADD) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5157 Fax : (66) 2029 5019	Service provider of insurance broker	0.05	100	5	99.99
8	Advanced Magic Card Co.,Ltd. (AMC) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of electronic payment network	25	10	250	99.99
9	Teleinfo Media Public Company Limited (TMC)²⁾ (an indirect subsidiary via CSL) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2262 8888 Fax : (66) 2262 8899 Website : www.teleinfomedia.co.th	Service provider of publishing and advertising telephone directories	15.65	10	156.54	99.99
10	CS LoxInfo Public Company Limited (CSL)²⁾ (an indirect subsidiary via AWN) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2263 8000 Fax : (66) 2263 8132 Website : www.csl.co.th	Service provider of internet data center services, internet and satellite uplink-downlink services for domestic and international communications and distribute internet equipment	594.51	0.25	148.63	99.68

General Information of AIS's Affiliates (Continued)

No.	Subsidiaries	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
11	AIN GlobalComm Co.,Ltd. (AIN) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of international telephone service/gateway	2	100	100	99.99
12	Advanced Broadband Network Co.,Ltd. (ABN) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of training within the Group	1	100	100	99.99
13	AIS Digital Life Co.,Ltd. (ADL)³⁾ 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of digital platform	0.5	100	50	99.99
14	MIMO Tech Co.,Ltd. (MMT) 1291/1 Phaholyothin Road, Phayathai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Developer of IT systems service provider of content aggregator and outsourcing service for billing and collection	0.5	100	50	99.99
15	AD Venture Public Company Limited (ADV)²⁾ (an indirect subsidiary via CSL) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2262 8888 Fax : (66) 2262 8877 Website : www.adventure.co.th	Service provider of mobile contents	1.07	10	10.75	99.99

General Information of AIS's Affiliates (Continued)

No.	Subsidiaries	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
16	Fax Lite Co.,Ltd. (FXL) 1291/1 Phaholyothin Road, Phayathai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of operation in space, land and building services, and related facilities	0.01	100	1	99.98
17	Yellow Pages Commerce Company Limited (YPC) ²⁾ (an indirect subsidiary via TMC) 1126/2 Vanit Bldg.2, New Phetchaburi Road, Makkasan, Ratchathewi, Bangkok Tel. : (66) 2262 8888 Fax : (66) 2262 8823	Service provider of online advertising business	0.01	10	0.1	99.94
18	LearnDi Company Limited (LDI) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5000 Fax : (66) 2029 5019	Service provider of training	0.1	10	1	99.99

Notes:

1) The remaining share percentage of ADC in the amount of 49% is held by other persons with no conflict of interest.

2) AWN acquired ordinary shares in CSL, equivalent to 99.68% of the paid-up capital, through a voluntary tender offer. As a result, TMC, ADV and YPC are an indirect subsidiaries via CSL.

3) AIS Digital Life Co., Ltd. has changed the name formerly from Wireless Device Supply Co., Ltd.

No.	Associated Company	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
1	Information Highway Co.,Ltd. (IH) 52/1 Moo 5 Bang Kruai-Sai Noi Road, Bangsитong, Bang Kruai, Nonthaburi Tel. : (66) 2029 5055 Fax : (66) 2029 5019	Service provider of transmission network	0.5	100	50	29.00

No.	Joint Venture	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
1	Amata Network Co., Ltd. (AN) 702/2 Moo 1, Klongtamru, Muang, Chonburi Tel. : (66) 2029 5055 Fax : (66) 2029 5019	Service provider of infrastructure developer of fibre optic network	1	100	100	60.00
2	Rabbit Line Pay Co.,Ltd (RLP) 127 Gaysorn Tower, Unit A,B 18 th Floor, Ratchadamri Road, Lumpini, Pathumwan, Bangkok Tel. : (66) 2026 3779	Service provider of electronic money and electronic payment service business	6	100	600	33.33
3	Saha Advance Network Co., Ltd. (SAN) 414 Phaholyothin Road, Samsen Nai, Phayathai, Bangkok Tel. : (66) 2029 5055 Fax : (66) 2029 5019	Service provider of infrastructure developer of fibre optic network	0.7	100	70	70
4	Digital Games International Pte Ltd. (DGI) 31 Exeter Road, Comcentre, Singapore	Service provider of games online	30	SGD 1	SGD 30 Million	33.33
5	AISCB Co., Ltd 19 Tower 3 SCB Park Plaza, 22 floor Ratchadapisek Road, Chatuchak, Bangkok	Service provider of digital lending via online platform	6	100	600	50.00

No.	Other investments	Business	Registered Capital (Million Share)	Par Value (Baht per share)	Paid-up Capital (Million Baht)	% of Investment
1	Bridge Mobile Pte. Ltd. (BMB) 750 Chai Chee Road, #03-02/03, Technopark @Chai Chee, Singapore 469000 Tel. : (65) 6424 6270 Fax : (65) 6745 9453	Provide international roaming service within Asia Pacific Region	9	USD 1	USD 9 Million	10.00
2	Clearing House for Number Portability Co.,Ltd. (CLH)⁴⁾ 98 Sathorn Square Tower, Unit 403 4 th Floor, North Sathorn Road, Silom, Bangrak, Bangkok Tel. : (66) 2646 2523 Fax : (66) 2168 7744	Operate information system and centralized database for mobile number portability service (MNP)	0.02	100	2	20.00

Notes:

4) The equity in CLH is held by AIS 10% and AWN 10%.

Other Significant Information

Ordinary Share Registrar

Thailand Securities Depository Company Limited

The Stock Exchange Thailand Building,
93, Ratchadapisek Road,
Dindang, Dindang, Bangkok 10400
Tel. : (66) 2009 9383
Fax : (66) 2009 9476

Auditor

Dr. Suphamit Techamontrikul

Certified Public Accountant Registration Number 3356
Deloitte Touche Tohmatsu Jaiyos Advisory Co.,Ltd.
AIA Sathorn Tower, 23rd -27th Floor
11/1 South Sathorn Road, Yannawa, Sathorn, Bangkok 10120
Tel. : (66) 2034 0000
Fax : (66) 2034 0100